 EQ \f(3\b(x\s\up8(2)-7x)\s\up8(2)+8x\s\up8(3)-56x\s\up8(2);x\s\up8(4)-6x\s\up8(3)-7x\s\up8(2)) =
= EQ  \f(3\b(x\s\up8(4)-14x\s\up8(3)+49x\s\up8(2))+8x\s\up8(3)-56x\s\up8(2);x\s\up8(4)-6x\s\up8(3)-7x\s\up8(2)) =

= EQ  \f(\b(3x\s\up8(4)-42x\s\up8(3)+147x\s\up8(2))+8x\s\up8(3)-56x\s\up8(2);x\s\up8(4)-6x\s\up8(3)-7x\s\up8(2)) =

= EQ  \f(3x\s\up8(4)-42x\s\up8(3)+147x\s\up8(2)+8x\s\up8(3)-56x\s\up8(2);x\s\up8(4)-6x\s\up8(3)-7x\s\up8(2)) =

= EQ  \f(3x\s\up8(4)-34x\s\up8(3)+91x\s\up8(2);x\s\up8(4)-6x\s\up8(3)-7x\s\up8(2)) =

= EQ  \f(\b(3x-13)\b(x\s\up8(3)-7x\s\up8(2));\b(x+1)\b(x\s\up8(3)-7x\s\up8(2))) =

= EQ  \f(3x-13;x+1) 
Ответ:  EQ \f(3x-13;x+1) .

